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A policeman saw a thief from a distance of 200m
and started running towards him. If speed of
policeman and thief are 12 km/h & 10 km/h
respectively. Find the distance thief had run before
caught.

Tk =R Tk A i 200 WX 1 g | @ @
X AN E R 31 ¢ AR 9w R fawEt w5
e FwHE: 10 fEeR iR 12 e 2o
THe 91 § Teel =R fahaer gt 7 T g 2m?
A policeman saw a thief from a distance of 300m
and started running towards him. If speed of
policeman and thief are 30 km/h & 33 km/h
respectively. Find the distance thief had run before

caught.
mmm%@mar\nﬁwﬂﬂ?ﬁnm%
\“\ e I B \‘1 [ e DL B DR AV LY B | RSl T ) 'B\\‘ A B - AN L

R AU YE F @ ¢ AR 9 SR fauEt &
e A 30 fEvee eiR 33 fEfEe 1@
THS SH H Bl IR faRat g @3 g By
A thief saw a policeman from distance of 200 ‘
and started running. Thief could run 1 km dn T

minutes & policeman could run 1 km in 10 minute8y, |

Find the distance thief had run before being @aught.
T W T T 200 e w1 g e 21
SR A Y FR W T AR | R e+
g ¥ v fawet 1 e, 10 Rage WEs@ 1 @
THS S 8 vee WR fra A R T Em?
A thief saw a policeman frofm. dlstance of 700 m
and started running. Thlef could run 4.7 km in 41
minutes & policeman can, run ithe same distance in
34 minutes. Find the dlstanee thief had run before
being caught.

TF AR UF A 7ootﬂaaﬁejua@m
2, iR e Reate a1 ?1 WX 4.7 fwHl, 41
fire o <refpa)sii faue 4.7 foeedt, 34 fire o

A constable follows a thief who is 200 m ahead of
the constable. If the constable and the thief run at
speeds of 8 km/hour and 7 km/hour respectively,
the constable would catch the thief in how much
time?

T ot 7 9R #1200 HeX Fh 9 3@ =R
F qrF yE fE oR faudt sue die 9 At
mﬂﬁﬁnwﬁwm-sfﬂﬁmﬁn?
fedftmer f @t foudt feadt | F W) &1 THg
Tm?

Shyam and Radha started walking towards each other
from A & B at the speed of 21 km/h & 15 km/h

10.

respectively in order to meet each other. Shyam had
walked 500 m more than Radha had walked. Find
the distance between A and B. _

W@Rn%n@@?ﬁﬁa%%mm fag
AR BH fiored €1 vargSig o0 1 <1e HEs:
21 fEdfiser 3R 15 ﬁﬁrﬁm%\ﬁqﬂ?aﬁaﬁ
00 'Eﬁ:"l—“m#r = =1 o & Aw.\
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Two trains start® from station A and B and travel

o ]'F'}TIIY
=T, A

towards eacli othén at 'speeds of 16 miles /hour and
21 miles Jahours fespectively. At the time of their
meetmg the second traln has travelled 60 miles more

F i (e H) Falt 27

A man can reach a certain place in 30 hours. If he
reduces his speed by 1/15th, he goes 10 km less in
that time. Find his speed per hour.

s At Tt fafvaa g =61 30 =92 ° 99 F
% A% 98 ol W W § 1/15 1w
dl 9 3a4 & g9a H 10 TRHl. &7 Ferar, @ =Afw
H adfds I Jd Fifed)

Two person P & Q start walking from A towards B.
Distance between A & B is 60 km. Speed of P is 4
kmv/h less than that of Q. After reaching at B person
Q returns immediately to A then person Q meets
person P at the distance of 12 km from B. What is
speed of P and Q?

@ PIRQUF F fag AH fag B # R
ol AR HW 21 A SR B# s # gl 60
fantit €1 P &1 =11, QU 4 fHi/siar s 81 Q, BW
TEaH 3R g 9199 e Pl BH 12 fRHl.
# g0 W fAed €1 d P EARQ & = ¥ Bhii?
Two person P & Q start walking from A towards B.
Distance between A and B is 100 km. Speed of P is
26 kmv/h and speed of Q is 54 km/h. After reaching
at B person Q returns immediately to A and on the

way person Q meets person P at the distance of
x km from B. Find the value of x?

3 AN PARQUF € fag AW fag B & 3R
TAT AN HI g1 A SR B HI 9= & g0 100
fartl &1 P =1 26 FFHI/H q91 Q T =G 54
fopil. /o2 1 Q, B W YEaH 3 a19H e P
%1 B Y x ol w1 g W fireran @ di x %1 JH
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P and Q are 27 km away. Two trains with speed of
24 km/hr and 18 km/ hr respectively start
simultaneously from P and Q and travel in the same
direction. They meet at a point R beyond Q. Find
distance QR.

PAN Q TH T ¥ 27 FRl. R towmieat
FHI: TIH P qoM Q | HHI: 24 frefi/siar qen 18
feptii/siar st Tifd W W € SR = WE e 2
9 Q ¥ W fag R R firerdt €1 QR &1 gt =70
Eauil

A child while going to school reduces his speed to
4/5th of his actual speed and reaches 15 minutes
late. Find his actual speed.

e dedl W W T S g9 SO URiEE e
1 4/5 =Tl L ol €, ° 15 e 30 9 udu €,
ql THFT arafaE 9Hg 7 87

A child while going to school increases his speed to
7/6th of his actual speed. He reaches his school 5
minutes early. Find his actual speed.

U Fed W H THe 9 g S IR = &
7/6 I F oA 2, @ S e el i o ®, @
TEE AAfaE 9 F® 2

A child while going to school reduces his speethQ
7/11 of his initial speed and reaches in 22 houlr,gflﬁlX
he had walked at his initial speed then how h

time had he saved. v‘
wﬁmnmmaﬁaﬁw@a{&mﬁ
71190 F o @ 22 wﬁ@ﬁ@waﬁ
A R I o T “a‘ren %ﬂ%@ﬁ [ETE]
HUZ 1 7 )

5 4
A car travelling with 7 Qf 1té§>gsual speed covers

42 km in 1 hour 40 nyﬁ"&& §ec What is the usual
speed of the car? _ W

-."‘-H.\

qzswa:rﬁqm%aﬁ S @ 4 el

F1 g Fﬁps&ﬁm%mnmm%ﬁ
FR FHI ﬁﬁ-‘m = e 2

In coveﬁﬁgﬁl distance of 30 km, Abhay takes 2 hours
more’?ﬁan Sameer. If Abhay doubled his speed, then
he would have take 1 hour less than Sameer. Find
the speed of Abhay and Sameer speed (in km/hr).
30 forfl. &1 8 70 % o s ], I g 2 W
SR @ #) AR A SO 3 A § e @
il 39 R W | U FH 9 o 81 W 3R
gl =1 =@ (fetEven) | gm Fifsu)

Ram went on a 10 mile drive. He started with a
certain speed and after covering each mile, his speed
is decreased by 20% for the next mile. If he took 5
minutes to cover the first 5 mile of the drive, what
is the approximate time taken by him to cover the

1':

18.

19.

r""é

21.

22,

next 5 miles?

M 10 e w1 g0 79w € 98 URY ¥ e
fafe=a =1e @ <o @ a1 yoE Hid g0 99 A
W SEHT T H 20% FH1 S S gl S §
af% 9% el 5 e F G0 H 5 R § 0
T erelt 5 e ®1 g 9 wE W 39 e
fora T wm?

Speed of father and his son is 12 km/Wand 18 km/h.
They start from A towards BWJf son leaves after 1
hour and reaches 1 hour ea‘ff' @mhan his father. Find
the distance between A.. apdzBﬁt“
wﬁmmqﬁm%m 12 feeit. /e sin
18 fapt. /eie %:wwﬁfﬂAﬁﬁgBm
mmw%@fﬁma | %2 A freherar &
Wlw@,ﬁ@m% a ASRB® & &
U %\\ g

Spee?’l@f f’aﬁher and his son is 12 km/h and 15 km/h.
Theyag \staks from A towards B. If son leaves 39
r?ﬂ\ﬁ@ueé'?ater than his father and reaches 21 minutes
pﬂﬁﬁt Tiis father. Find the distance between A and B.
Wﬁm@ngaﬁmm 12 fepeft. e @i
b5 feft. /e 21 3 T # fag AW fag B
SR ST =ed €1 9, fam & 39 e o e
% 3N 21 f912 Yeel 989 w1 &, °l A SIRB # 9
F1 gt o 77

When a child goes to school at the speed of 5 km/h
reaches 6 minutes late and when he goes at the speed
of 6 km/ he reaches 6 minutes early. Find the distance
between his home and school.

TF a=d1 R 9 T 5 fHHL/HE F e | S
gl 6 e 30 9 wdHa 21 AR =% 6 e
F 9§ SR, A 6 e Sl weg S 21
e 3R R F WA= w1 gl F eni?

Ram arrives at a Bank 15 minutes earlier than
scheduled time if he drives his car at 42 km/h. If he

drives car at 35 km/h he arrives 5 minutes late. The
distance of the Bank, from his starting point is:

afz Tm 42 fRHAL/ER #1999 FR G g
e H& fruifa g9a 9 15 foe Jot v 7 iR
Afg 98 35 fFHl./me #1 99 § R g €
a8 5 fie &0 | wdaa € af o fag | %
EUEIEEEFIE L

A man starts to travel in order to reach his in laws at
the speed of 60 km/h and reaches 1 hours late. If he
travels at 80 km/h then the reaches 2 hour early.
What is the distance between his home and his in
laws. Also find out the actual time taken to travel
the distance.

T AEH R W TYU 60 fore./ser &1 = |/ S
Tl 1w & A wdea 21 SR e 80 Rl /s
A WS e, W98 2 W Ul Ugd S 2
R wgue ® A" F1 gl iR S F o gne
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If a man runs at 10 km/h, then he arrives at a certain
place at 1 p.m. But if he increases his speed by 5
km/h then he reaches there at 11 a.m. At what speed
must he run to get there at 12 pm.

af% w AR 10 AL/ 1 = | e €
e TRl fftsd oM W A9 | 99 wEaar €
g af% 9% @10t =@ &1 5 T HL/= &1 9
Y 9@l <01 & A1 9% 9§ 11 9 wgaal g1 a9
FIY gUeT 12 79 TWad & fau g+ = a0

B ?

Tt

If a child goes to his school at the speed of 40 km/h.
He reaches 2 hours early and if the travels at the
speed of 30 km/h then the reaches 1 hour early. Find
out his actual speed and distance actual time taken
in order to reach at time.

UF oA W W T 40 FHA # ae | S
%, 2 W ool ugE W €1 3R =% 30 s
&1 A W@, A 1 S Wl ug™ W Al
IHFT AEAAE A, FHe g A AWdfod T M
2

A car travels from P to Q at a constant speed. If itg, | i'f:'

speed were increased by 7 km/h, it would have taken 9

one hour less to cover the distance. It Would"‘hgye )

taken 1 hour more if the speed were decreased) hy§
km/h. What is the distance between two cifiésand
find the speed of car?
foret fifvsa w19t @ ©F FR PH Q#F BT T
m%aﬁwmvfﬁmm‘%m%
@ = ‘ -
waﬁw«ﬁmmamﬁqﬁ?ﬁ%mmu
wmm%rmdﬁﬁaﬁ’yﬂsn(gmaﬁw
T TA FR F 9 am‘m’ri

A car travels from P to Q at a constant speed. If its
speed were 1ncrea_sé“d by 10 km/h, it would have
taken one hour,less ocover the distance. It would
have taken ﬁlﬁhef'45 min lesser if the speed were
further 1ncre ed by 10 km/h. What is the distance
between“tkwac}nes?
wmaﬁﬁWWP@Qm@m
PR Tw T 10 B T @ o
€ o 38 g0 7 H H T Wl wH ol ¢l Al
THE e 10 AL/ R ger & S ® A
45 o2 3R &0 o' d 1 d g e PAM Q&
= F g A FIeg)

A train travels 75 km in a certain time. If train travels
20% faster than a car but both reach at the same

. |
time because there was a 125 minute halt for the

train. Find the speed of car and train.

TH 3, TF HN G 20% o9 dgdt 21 LA TH

28.

29.

31.

32.

33.

Y UF E fag A 9 "o YRy il € #AR 75
foret. ¥ feom fag B W & & 999 W ug=dl

Hmwn?ﬁmuz e a@E &t

3TN SR T F A 2

A train runs 30% faster than a car both start at the
same time from A and reach at Bgat the same time
because there was a halt of 9 mifiutes¥for train. Find
out the speed of car if the distanee between A and B
is 78 km. N\

uF H, @wumwﬁ{&*ﬁsﬁ%[m@wu

= =t = A'A' :l_.lﬂ'rl'l“ﬁ’l = 3 o o Berhr
\"‘n ol |‘-"|"3 = ‘-’lklwﬂ Mt o Ay JO 1ML

{{f&aﬁﬁunfw@wmqﬁ?ﬂ*m
mngaﬁ,ﬁ’ﬁﬁgwaﬂﬁélwaﬁw
Fmgr 0

Speed of a‘%us is 45 km/h. If it stops for a few
mmlitgﬁ\man hour then its average speed becomes

s

42 kmy/h. Find out the time duration it stops for in
gﬁﬁlau X

@ﬁﬁmzﬁ@m%mﬁmaw

) %’amﬁﬁ% ql IHHT = 42 T S E

¥ Speed of a bus is 54 km/h. If it stops for a few

minutes in an hour then its average speed becomes
45 km/h. How many minute did the bus stop in an
hour.

U 99 &1 = 54 TEHEa 81 A o e 0 w5
fome Tohdl €, A1 SUHT =1 45 TR/ @ S
& a9 e e TR e et €2

Speed of a car in 42 km/h. It is stops for a few
minutes in an hour. Then its average speed becomes
28 km/h. Find out the times duration it step for in an
hour.

UF FR HI A 42 e 2 A o9 w1 0 w5
e &kt &, df SHET =1 28 foRdyEe @ S €
q & gt e faad foe Tt 22

A bus travels 1300 km with an average speed of 65
km/h. If it stops at § junctions it takes exactly 1 day
to travel the whole distance. Find out the time
duration it stops for at each stop.

wF a9 fam w6 1300 fRHL & 0 65 R
F A W T H ) AR A 8 WY W
qf 3HH W ZF (24 =) @ S @ A T
YA | R = @R

After travelling a distance of 50 km train meets with
an accident and its speed becomes 3/4th of its actual
speed and reaches 35 minutes late. If this accident
had occurred after travelling 24 km more train would
have reached the station 25 minutes late. Find out
the distance and speed of train.

TF 3 50 foFfl. W & 9% geenEd @ o 2
THH FNU IHF! A1 YRIHE A F1 3/4 T @
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St # e 9% e e W35 e 6 9
Yol ®1 A% gEe S9N W 24 Rl @
TAHL gE Bl a1 24 T W Fad 25 e <
Y wgdl Fe =ol g8 g AR 3 &1 A 7 82
After travelling 200 km a train met with an accident
and its speed became 4/5th of its actual speed and
reached 45 minutes late. If this accident had
happened after 40 more kms the train would have
reached the station 30 minutes late. Find out the
distance and speed of train.

UF 2 200 TR 9o & Wg gHARE @ S
2| THF FNV IS W YRAE A0S F4/5
T B S € S 98 9T e W 45 e
0§ wgadt 1 A g 39 T g 40 T,
HF I g8 Bl 1 oA A W Fad 30 e
% 9 wEudt A B =l g g #R H # oA
w72

After travelling 333 kms a train meets with an
accident and its speed becomes 119/787 of its actual
speed and therefore reaches 4 hours late. If this
accident had occurred after travelling 111 km more
then the train would have been 3 hours late. Find
the distance.

QE&HB}W.W%E{K‘@"ZHW%%@

Distance between A and B is 230 km \fter travelling
a certain distance a motobike bre S gjown and then
it travels at the 3/4th of the actu --speed and reaches
1 hour late. If the bike, had broken down after
travelling a distance of] 30kmmore he would have
reached 12 minutes ea‘rl;g_r. Find out the distance at
which the bike broke do{ffﬁ and speed of bike.

wmmmA@Bw 230 fadt =t

X 2 St € o 9w ot e
=T 1 Q4 T | o ¢ e BW 1 s &
H YE=] oAt HewEEa 30 fF. S wen
R T g2 Bl Al 98 ved § 12 e veel v
ST W EAT 98 g A Y el aE a@ud
g off 3t 3§ =fe &1 = = 82

A train starts from a station and after traveling 100
km meets with an accident. And then the speed of

the train reduces by 1/4th of its former speed. And
travelling the remaining distance it reaches to its

7
destination 1§ hours late. If the accident occured

60 km ahead then it reaches 15 min earlier. Then
find its original speed and the distance of its journey?

38.

39.

40.

F HEU IS U I T 1/4 = =9 2 S
b 134 = =t | 1 | 4l 3
¢ MIN XM }\\I M AN MUK M 8 R A P B SN B ] |

STt #1 afg 60 et e gefe € et
nmiﬂfﬁﬂzww%‘laﬁaﬁmﬁﬁm
FT W A A A H G R B

After travelling 5 hours a traifilymeets with an
accident. Due to this it has t f’stop 2 hours. After

this the train starts moving 5;)—% of its speed, and

o -2
reaches to its destinaf'rofi 123 hours late. If the

accident had 'curred 150 km ahead on the same
line then the tr Would have reached the destination

2 o B
Dehitv] 2 *-Id tchrl Hell 5*14‘! o5 dg RS

% fr T arh =E o Tiasr
(VR LRY BN B A | MY VTN I

: 5
9t el T wi55=
9

2 ae e o -
B W12 50§ W A oA S e

T 150 R aﬁ%ﬁaﬁw@a%aalog‘a%éﬂ
o wgadtl M F YA A A B

After travelling 25 km the speed of the car increases
by 1/4th of its original speed, due to this the car
reaches 30 minutes earlier on its destination. If the
speed of the car increased 10 km before, then it

2
reaches to its destination 32g minutes earlier. Then

find the distance travelled by car :
25 fdl. =1 T 7@ 0 % 9% TH FR &

WW@%@W?WWWW

g 9 30 e Jedt vgw St €1 9% SR w1
o it 10 fw. wed w1 fomn s @ 98 w1

W@ﬂ%ﬁﬂ?@lﬁ@ﬁﬁ?mﬁﬁﬁﬂma‘f
FR 7 fRadt g T F1?

After travelling 3 hours a train meets with an
accident due to this it stops for an hour. After this
the train moves at 75% speed of its original speed
and reaches to destination 4 hours late. If the
accident would have occured 150 km ahead in the
same line then the train would have reached 3.5
hours late. Then find the distance of journey and
the original speed of the train?

100 fordfl TeF % 95 e IomE] SroAnREd B
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T {@MEN AT THA A | 9o & 3 9 1%
e B & HRO | S & U T Wl 2l
AR 9% § 98 et A |@Ee A H75%
T H F6 W 98 T T T W 4 HE H
&0 9 qEudt 21 afg gee 150 . @i e g
Bl 1 el fAw 3.5 ®2 ® Iq | wed,
{EE! i WA =16 a9l 9r 61 g0 71 Fieg)
The Sabarmati Express left Ahmedabad for
Mumbai. Having travelled 300 km, which
constitutes 200/3 percent of the distance between
Ahmedabad and Mumbeai, the train was stopped by
ared signal. Half an hour later, the track was cleared
and the engine driver, having increased the speed
by 15 km per hour, arrived at Mumbai on time. Find
the initial speed of the Sabarmati Express.

TF S GEd T SEEEEE o e &
fore e eidt €1 300 Tt *1 g0 S we 50 F
200/3% €, T FH & ML el 0 € fgEa
R U G S 21 1/2 w02 @, fged fier
@ aeF 94 = & 15 LA #5199 ae
&A1 q 9% Ll GHE W R g St §
HETA THAYH H AR = J6 S

At 7 : 00 am. I started travelling at the speed of %
kmph. After I had travelled some distance, my%

went out of order and I had to stop. After resti%%
35 minutes, | returned home on foot at a speed

kmph and reached home at 1 pm. Find th listance
from my house at which my car broke d

gae 7 99 UH AfF 36 fwHl/H M
M FEEd % fau e = q &1 &
% IHET MET WA & T 3" A
ge1 g 35 foe fagm ¢ % T 14
el /s 1 A o Sy A R Rl
G G LR TH W IHHT MET
E g

Shyam starts to om A towards B at 10am and
Radha starts tg rom B towards A at 10am and

ol T BH 10 9% U TR | fAed &
T ¥ T TH-gE I e & A1) v
B W 24 faqe  qen Ts1 A W 54 fre ® wE 2
at & foras =t faa =i

Radha walks with the speed of 45 kmv/h from A to
meet Shyam and Shyam walks towards her from B.
After meeting each other at C they reach at each
other's home in 4 hours and 9 hours respectively. Find
the distance between A & B and Speed of Shyam.
T A § et e 45 s 2, vam BE U
T frert % fore 5o 31 TF TR @ el @ A
T, TAH F R 9T TAM, T % W FHAY: 4 H
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49.
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R 9 w2 wEad € I W & A" F g ae
I H A FA1 B2

A person covers a distance of 300 km partly by train
and partly by car. If he travels 60 km by train and
rest by car it takes him 4 hours to cover that distance
and if he covers 100 km by train and rest by car it
takes him 4 hours 10 minutes to cover that distance.
Find out the speed of train and ¢g

ot s 9w 76w s
# 4 w2 @ ¥ ATy 100 e 2 g s

rcar it takes him 8 hours 12 minute to
distance. Find the speed of train.

Y ®R gRI 9 a1 g1 9% 98 3 5 100
3R 99 3 FR W T KL A W FHA A

Y g FR G T K A IH 12 e sifuw
o |3 H A F e

A person cover a distance of 760 km partly by train
and partly by car. If he travels 160 km by train rest
by car it takes 8 hours and if he covers 240 by train
and rest by car it takes him 8 hours 12 minute to
cover that distance. Find the speed of train and car.
TF T 760 TFH HI g H HS 90 A ZA
R 39 FR GR 99 FL@1 2 AR T8 3 5N 160
el R 919 g0 FR gR1 99 HL @ W FHA I
¥ g 5 @ ¥ A% 9 240 FEHI I g SR
W g FR G 99 w39 12 e aifus
M E IR FR FT A = E?

A car travels 140 km partly at a speed of 6 km/h
and the remaining at a speed of 10 km/h. If the
speeds, are reversed then it travels 8 km more in
the same time. Then find the time takes by car to
travel 140 km and also find what was the average
speed of the car?

T &R g w1 140 fRAL 9m 6 A w1
e | a1 9 9 10 fE LA @ 9e |9
FTA ¢ AR gg AT Al F WER F9_e B G
T FA B q S wE H g R wfuw g
FIA T q T H 140 R F @0 F T wA
¥ R I a1 q9F o 941 FR H1 AEa =l
1 27

Two bullets are fired from a place at an interval of

11 minutes. A person approaching that place hears
it at the gap of 10 minutes. If speed of sound in 330
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T qqcdT 8, 1Y dSeiTl, @RI 18T 39T il
A-7, Top Floor, Jai Building, Near Chawla Resturant, Dr M. Nagar, Delhi-09




ABHINAY MATHS CLASSES

50.
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52.

53.

54.

5S.

m/s then what is the speed of person.
T el T fifvad wE g 11 e % SWe W
AT S #1 SH T W UEd ® U A F 10
e & sfqua W smEs g 1 Ak & w5
a1 330 HA®US @ o A F A e €2
Two bullets are fired from a place at an interval of 5
minutes. A person approaching that place hears it at
the gap of 4 minutes, 30 seconds. If speed of sound
in 330 m/s then what is the speed of person (in km/
h).

= Tl ue TS A g 5 e & siae ® e
SR E 39 E W Ugd ® UF A F 4 72 30
TEHUE F A W AN GAE 41 A% A # =
330 HiAEUE § A AR F A (B ) @
BII?

A metro leaves after every 15 minutes. A person is
running towards metro then he catches the metro
after 12 minutes. If speed of metro is 16 km/h. Find
speed of man.

2 3 & 15 92 918 Bl €1 UF SAad uel w
WE 9 W@ R, 9 39 12 o 9% we o o
21 afz w3 F A 16 fEdEa 2, 9 =fE
e B
Metro leaves after every 10 minutes. A person ste
running towards metro then he catches metrd”
8 minutes. If speed of metro is 24 km/h then
the speed of the person.

Fl 34 & 10 e a% gedt 31 U =
TE S @l 2, 59 8 fAde o w4

person running away fro
blasts at an interval of 1

distance he coveredi

10 e =
g faorie 4@

dl g it g0 =a g o1 3R
=@ #1227 AR A F: oA 330
el

A person covers a distance of 80 km in 8 hours.
some part of this journey is completed at the speed
of 8 km/h and the rest at 16 km/h. Find distance
covered at both speeds respectively.

UF AfF 80 fFH HT A1 8 W W 99 w2
I T HB 9 URe § s F oA ° AR
¥ Rl g7 16 fodfiHe %1 =« 9 73 F
§1 g i el g el W g0 fa 82
A person covers a distance of 61 km in 9 hours.
Some part of this journey is covered on foot at the

56.

59.

60.

61.

speed of 4 km/h and the rest by cycle at the speed of
9 km/h. Find the distance of both cases.

U AR 61 FRH HT AEn 9 uE H a9 W gl
I T HD A0 Uee 4 fRise B A 9 R
v TEfe R 9 fasi/ser &1 =e 9 99 i g
e s wEfEe g e T g R 2

A person has to cover a distance of 48 km. If he

a% a certain speed. If the bus
of bus by 20 km/h then the
ours more to travel the same

A bus travels 7004
driver reduces
bus will take

' m%a’lwaﬁa@a’qmﬁﬁataé
4 1 A o9 T AR =Tl [ e
erson has to cover 360 km distance. If he
creases his speed by 10 km/h he reaches 3 hours

rly. Find his initial speed.

TF T FI 360 R F g 99 A 21 A 9
ST W 10 fRHi/se g o 9 39 3 HE &H
T E| Al IEE YRR A F edi?

An aeroplane is stopped for half an hour and now it
has to cover a distance of 1500 km in given time so
its speed is increased by 250 km/h find its initial
speed.

TF TATE SRS & Y A & ford ek A S
&1 319 39 1500 & %1 58 XU gu ffvea w
o9 & & fow ot = 250 faeEe s
wEdl g1 A1 SHHT WRIE = F edi?

A train has been stopped for 6 minutes. Next stations
is 36 kms away and to reach on scheduled time its
speed is increased by 4 km/h. Find its initial speed.
TF  F 6 THe & T I faan s 21 svren
WyA 36 . R 2, 31 *1 Ffvaa 99 § wdad
% o audt =t 4 fEdsa sgE ued 21
IUET URIAF = N eAi?

Ram starts from Delhi towards Goa. After sometime
he realises that he will cover only 75% of the
distance in the scheduled time and he therefore
doubles his speed immediately and thus manages to
reach Goa exactly on time. Find the time after which
Ram changed his speed, given that he could have
been late by 3 hours if he had not changed his speed:

9 9T FR Y el @ Men & forg W@ g 2
®F THG ITEN IH W6 e ¢ fE sEe fwifa
g | 75% 30 7@ 1 SR 9% WA & Ao i
HT AN FE R WA FHA | GG W@l gl AR
A I 1 SuREfid TEar € @ 98 I9g 9 3 0
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62.

63.

64.

65.

66.

&1 0§ TEA ¢ 9 99 HifSY I R v
A% e T w1 uRafda w3 2

A officer goes to office from his home, which is 8
km apart. His speed is 4 km/h. After 5 min he realised
that he left some important documents at home. He
returns to home and now he travels some fast speed
towards the office, and reaches office on time. Find
his increase speed?

TFH AYFER I W H 4 HHLA FH A G
A FEGT F T AR w1 € S fE
8 ol =1 g W fegd 1 5 e & @% =9 9@
T E R 9 S HP IRl FONW YA S §
3R 98 A9 A9 R & SR 9% e 9|
A H AE A Y T € A A HEied
I W UET I ¥, @ TR 99 g W 9
Hifs?

A child leaves for school at 4 km/h. School is 8 km
away from his home. After 5 minutes he remembered
that he had forgotten his book at home. He returned
back home with increased speed and reached school
on time. Find his increased speed.

T ded A & fau 4 fFERAR = o 9
Treperar € Thel = A § Tl gt W@ 5 e =
9 AF A 2 R 9 AT TEE R W A G
¥ i a7 AT we g2 v @ W TEE AR
T S € SR R A T S En
g W WA UEd 9 ¢ Al SHEH 9 §
27

Speed of a man is 90 km/h after eve
he reduces his speed by 5 km/

160 kms. Find out the time
distance.

cover this

24ﬁmw‘

<es 1 minute rest after covering each
ce. Find the distance travelled by the

slowe in when the faster train travel 600 km

distance?

a9 Tfa arelt el 100 fEHEe # oA |
TE S TER S FAF aR 3 R ®
fere fasm el € St Hi fq el @met 50
fEd. 1 g0 7@ F6 & 95 | fAAe &1 fasm
F 1 5" a9 T At et 600 fEAL w5
T 7 F € 600 R F1 T 99w & Al
A wifse ol wfq et el fRad g @
Faft?

A bus meets an auto at 10:00 am while going on the

67.

69.

70.

71.

same way towards Haridwar. The Bus reach at
Haridwar at 12:30 p.m. and take 1 hour rest there.
Bus return the same way and meet the same auto half
hour later. At what time the Auto will reach at
Haridwar?

uF 99 9 fiaen sfgr #1 WF 96 g 9u g6
fawn # werd gU UF @9 UF e 9 geEw 10 99

el & den q9e 12:30 o9 T H
| =ve fagm F & 9% 3 [ gU 3Td1 Hue
AR R § 9 a9 34 fEy @ e © a9 9@
wifse faen s Ed S

The metro service h:?i&l going from A to B and

B to A every hour, the first one at 6 a.m. The trip
fakes 4.5 hours, and all trains
ed. How many trains will you

.

Aﬁqu{f@w%{aﬂ
3 6 - 00 Yaied W ¥ & qen U
Y& HI A H 4.5 FUS FH THG ST
il ‘:h;l ™ ® oAG GEE 8 AR qH

00 AHET W A g 0 a3 ARY Fd 2

@Bﬁmﬁﬁaiﬁﬁmmmaﬁ?
68, A

father picks his child at 3:30 pm from school.
One day the child left at 2:30 pm and started to walk
at the speed of 6 km/h and meets his father on the
way and they each home 24 minutes early. Find the
speed of father.
wF T 319 5=4 1 3:30 9 A 9 o H S
21 Tk & "= 2:30 THE @ el 9 ¢ 3R 6
fepeft/siar 1 =l | o € @R T W e
Y Ao & 79 9% A S0 R 24 TR TR e
S ¥ A faa #1 =e 82
Radha and Shyam start travelling from Delhi to Goa
at the speed of 15 km/h and 12 km/h respectively.
After half an hour Meera also leaves from Delhi to
Goa. After same time Meera crosses Shyam and 90
minutes further on Meera crosses Radha. Find the
speed of Meera.
T R v feeel | e wEe: 15 fweHe
3R 12 FEH/S 9 @ A E 5 € ey w0
g H ot faeet @ Tl Hert 1 HP 9 9K
T v B IR H A ¥ R 90 fie A
T H TR R A ROF FT 9 FwR?
Distance between A & B is 550 km. Both start
walking towards each other with the speed of 60
km/h and 50 km/h respectively. Find the time taken
by them to meet each other.

A SR B# o9 &1 g 550 O €1 9 A ww
@ @ fred ® fu Sed § A F T 60
feptit/siziden B &1 = 50 frdi/mer e, o foem o
oM G #?

A boy from Delhi and a girl from Meerut started
walking towards each other. They both started with
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72.

73.

74.

75.

the speed of 5 km/h. After every 1 hour the boy
increased his speed by 1 km/h and the girl decreased
her speed by 1 km/h. Distance between Delhi &
Meerut is 110 km. Find the time taken by them to
meet each other.

e fReell § iR @g® WS | U gul fueH
% fow = &, 990 & o= &1 g0 110 L 2
A # W 5 fEiEe 1 AeE W oHe Syl
et | fori/e Sen oar € AR Al AT T |
ferfi/ese om %= ol €1 A 9 I R 9 AR
faeiT?

P and Q start from A and B respectively with uniform
velocities. P is headed towards B and Q towards A
and both cities are 600 km apart. P rests whenever
Q is on the move and Q rest whenever P is on the
move. The speed of P and Q is 25 km/h and 30 km/
h respectively. If P starts first and reaches B in 36
hours, then find the least time that Q would take to
each his destination after P makes a start.

P, AT Q, BH U379 THMT el | Ueh-3aL
1 AN FE AT F € I Wl #1600
el 81 59 P werar @ o Q fadm i € iR awn
a1 S/ Q weAdl € dl P fa#m ar €1 Pasn Q i

P
el T 25 TR /e qen wﬁu‘lm%mﬁ%‘ﬂf%’
%ﬁmmm%ﬁmewﬁBmm B~

2, mpaﬁ%mﬁQOmW%%
T % o W A wH T G e
A train from A leaves at 7 am at the speqdrof’f() km/
h to each B and similarly. A train fron%E”T@aves at
the speed of 60 km/h at 8 am. If da?stﬁnde{)etween A
and B is 720 km. Find the tlfriB\“tﬁ@ by them to

meet each other.

WﬁAﬁBﬁmw @ﬁoﬁmﬁmﬁ
e | Fedl € ae %BuAﬁm
Wsaﬁﬁofﬁﬁm e | gt 21 Ak

mﬂimaﬁaﬁ{&m%ﬁ%lméfﬁmﬁ
CEREUE _
A train from A’;l{:%es at 7 am at the speed of 25 km/
h to reach B a?nﬂ}a train from B leaves for A at 12
pm at thq.‘spei‘ﬂ of 35 kmv/h. Find the time at which
they wi et.
@%&HBﬁmw?aﬁvsﬁFﬁmﬁ
=6l | Heldl € G991 U gH0 o A § B I @R
& 12 79 35 fwwise #t 9 § Jod 1@ A
Al o st fireii?

Train P left Delhi to Noida. Two hours later train Q
left Delhi to Noida. Both trains reached Noida
simultaneously. If Train P had started from Delhi
and Train Q had started from Noida at the same
time and travelled towards each other they would
meet in 1 h 20 minutes. Find the time taken by Train
P to travel from Delhi to Noida (in hours).

Tk 37 P feoeht 9 Aiuet & fog qen 3§ =92 =15 24

76.

fi/é
&7

[N

71.

78.

79.

80.

Q feeell § et & fow w@Fn &l & qen 9 S
TF Y ACE TEAd 21 AR I P Al 39 Q UF
T FT SR UH Wi FHe: fEeelt qen AweEr 9
Jeft Bt @ A 1 He 20 fe 9 e |
frrer steft @ s IS feedt | et 1 e @
FH H 29 P&l fhad =0 #1 59T @m?

A naughty bird is sitting on topgof a car. It sees
another car approaching it at asdistafice of 12 km.
The speed of the two cars 1860 km/hr each. The
bird starts flying from ghe“first car and moves
towards the second car, reaehes the second car and
comes back to the first.cariand so on. If the speed at
which the bird flieg is 120km/hr. The total distance
travelled by the @&;&Assume that the two cars have
a crash) ,;’J s ﬁ":“

'&ﬁwmm%[aﬁﬁ%mmmaﬁ
g 120 fEALAR € A W@ @i fafgan A

Tt <t 7 =1, 98 7F wlifse & g9 1 s
H 2 St §

Distance between A & B is 120 km. If they both
move towards each other (opposite direction) they
meet in 2 hours but if they move in same direction
they meet in 6 hours. Find their speed.

A @R B# & &1 gt 120 et ¥1 59 9 4w
T H AR T €, 2 W H faew € qen v
i ww & feen H word €, @t 6 =W A foew €
AT T = 87

Distance between A and B is 60 kms. When they
move in opposite direction they meet in 6 hours. If
A moves at 2/3rd of its actual speed and B at 2 times
of'its speed then they meet in 5 hours what are their
respective speed.

A @R B# o4 1 g 60 i §1 5= 9 <A U
T F AR Fed € @ 6He H fAen € Ak A
ST GRfe WTE #1 2/3 A FE o SR B et
ST e e, | A 5 oHe H fivel 9 21 A @R
B e # #7

Distance between A and B is 650 km. When they
move towards each other they meet in 10 hours. If
A starts moving after 4 hours 20 minutes than B
then they meet in 8 hours. Find out their speeds.

A 3R B# 99 ®T T 650 fFHH &1 5@ 9 3w
@ 1 @R e €, Al 1052 ¥ e #)1 3f% A,
B & FeM & 4 ®2 20 fie o) =@ gE wt
M 8 = F fael A w1 = A 82

Distance between A and B is 600 km. When they
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81.

82.

83.

84.

start moving towards each other they meet in 12
hours. If A moved 5 hours after B then they meet in
10 hours. Find their speeds.

A #R B & &1 gt 600 i 21 w7& o g U
T FT AR =ed €, @ 125 § e €1 3 A,
B % 9o & 5 He AR =o ¥YE FL al aAl 10
He H el < #1 = @2

Distance between two stations is 450km. A train
from a starts moving towards B at the speed of 15km/
h another train from B starts moving towards A 20
minutes before the first train with the speed of 20km/
h. Find at what distance from A will they meet each
other.

T WIF AR B o9 F g0 450 it &1
3 AY B R 15 fRAR #1 = 9 =
21 A T 2 BY A & AR, T A B oM &
20 T2 weet 20 fRHI/Ee #1 =6 @ =odl 21
a1 A | fFa g W e

The distance between two stations A and B is 900
km. A train T starts from A and moves towards B at
an average speed of 30 km/h. Another train U starts
from B, 20 minutes earlier than the train P, and
moves towards A at an average speed of 40 km/hr.
How far from A will the two trains meet?
900 fa. aﬁiﬁmAai’r{Brﬂm%l%

IAMET T 30 faHl/He #1 91 | we A" %
F AR TG IE F@l ¢ A Tl

fr e Teel 40 Mmaaﬁwﬁ?@% VTR

Aaﬁmm%w%ﬁw%éﬁ

YoM Rl T8 R \M

Two trains start from the same fyg tgﬂmultaneously

and in the same direction. T r§’H’ra1n travels at

40 km/h, and the speed of cond train is 25

percent more than the sp dﬁsf the first train. Thirty

minutes later, a third tral Sﬁns from the same point

and in the same directiofis It overtakes the second

train 90 minutes teTy ithan it overtook the first train.
What is the SPQ ﬁf the third train?

e fag ﬁ’ﬁ Temfeat w @ T W, W
fi‘mﬂw&ﬁw%%wﬁ@nﬁﬁw
e 40 fRel /A €, | 25%
w@g S0 e = Al T s A
den SH fren § wem yRY #I ¥ @R Teeh
e H R FE H 90 e 9’ 3 EmEl
F UR H S # A A emel #oue w9
Hifa?
A person starts to walk from A at 7 am and reaches
at B at 10 am and a person from B starts to walk at

7 am and reaches at A and 1 pm. Find the time at
which they will meet.

T AfR A ¥ 98 7 991 Jedl @ 3R B W GuE
10 55 TEST & e TGN AT B Y gag 7 =5 &
ol & R A W A9ER | =9 Ygad €1 df a 2Hi

sl

8s.

86.

87.

A person from A starts to walk at 7 am and reaches
B at 10 am similarly A person from B starts to walk
at 8 am and reaches A at 11 am. Find the time at
which the meet each other.

UF A A 9 gag 7 99 Foldl € 3K B W gae
10 a5 YEAAT € T TEU Al Byd AT § a6
Jd © SR A R G 11 %ﬁ R ]
fra =t faer? /’*{'\,rrﬁ

A person from A starts to W@at 7 am and reaches
Bat 1 pmand anothetfpergbn starts to walk from B
at 8 am and reaches A%f 11 am. Find the time at
which they mee&h @1 other.

@mﬁm A;I fga@l—mm%' 3R B W =9e
g &R {{m =IfF BY gag § oo
'"Wga'sr 11 =S ggear €1 & g

%?,T' i
Zg@%rsoﬁt starts to Walk at 7 am from A and reaches
135 am and another person starts to walk from B

ﬁ:"*at g’ﬁm and reaches A at 11:30 am. Find the time at

‘p;( § ﬁ'nch they will meet each other.

%&3%
\:‘\’)

88.

89.

90.

I@WAHW?WW%@IBWW

11 o=t 9gear § a1 TN SAfH B9 gag 8 =
T & IR A W I 11:30 &1 Yg=a1 g1 qf &
Al foa @ firel?

A person starts walking from A towards B at 6 am
and reaches at 10 am. Another person from B starts
walking towards A at 8§ am and reaches at 11:30 am.
Find the time at which they will meet each other.
TF =AfF A ¥ g 6 991 9l © IR B W g8
10 951 UEHd € A gHU SAfF B Y GaE 8 9
Jd € AR A W HIE 11:30 79 Ggad &1 qr o
EERETEIECRECLY

Two trains start simultaneously from two tunnels
towards each other. The first train covers 8% of the
distance between the two tunnels in 3 hours, the
second train covered 7/120 of the distance in 2 hours
30 minutes. Find the speed (feet/h) of the second
train. If the first train travelled 800 feet to the
meeting point:

2 O 9 Y el UF w9 W U g A SR
el IE F €)W GO F A9 HI gl 8% W
Teell toEt 3 qUe W 99 wudl € aen gi
7/120 9 FEE et 2 "o 30 fAAe § a9
#1 gfg fier =1el fag a% veelt el 800 ®i2
F1 70 7 FA S A T T H = (Fe/Har)
M ST

A man takes 6 hours 15 minutes in walking a
distance and riding back to the starting place. He
could walk both ways in 7 hours 45 minutes. Find
the time taken by his to ride both ways.
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91.

92.

93.

9.

uF = sk AT e a% U5 9 qen Hie
BRI AME A F 6 5 15 2 &1 99 o € A
3G THEI TF KT AT U 99 FE H 7 " 45
e @ € @ S W HT A A g a9
¥ foHaT wwa wm?

Distance between A and B is 450 km. A car and a
bus travel from A to B speed of car is 20 km/h more
than that of bus. After travelling 2/3rd distance car
stops for 2 hours and after that remaining distance
is covered at 2/3rd of initial speed and reaches at B.
Bus after travelling 1/3rd of distance stops for 1
hour and after that increases its speed by 25% and
reaches at B at the same time as the car. Find the
speed of bus and car and also find the time taken it
took the car and the bus to reach at B.

A 3R B% &9 &1 g 450 Tt 31 ©F FR 3R
T 99 AY B AR HE Y& Wl ¢ AR B H
wite 59 # g ¥ 20 fFH/H sfuw € 2/3d
W F@ F AR FR 2A F faw EHA T SR
0% W% 99 g0 2/3 WKW Wie 4 99w @
R BWR T4 W €1 99 1/3 30 7 FE & 9%
152 & fou whdl & 309 =18 98 A9 oie i
25% el 3dt @ @i %R % T99 W B g9 9y
2l FR i g iR 79 FI Tie 791 T AR
R TW % W BAF Ve # fHam w f
A dog is chasing a rabbit. Initially distance b
them is 125 leaps of dog. Time taken b
take 4 leaps is equal to time taken by d

2.75 min 1 leap. Then in how
dog catch the Rabbit.

TF FAl UH G F 0 | EF % "
&1 g A FT 125 A B % BN 4 TAM
o A faE T wH 3 BATN ATH H

a{ps of dog. The time taken by dog to
is equal to 6 leaps taken by rabbit in

¢. Rabbit covers 1.5 m in 1 leap and dog
covers 2.5 min 1 leap. In how many leaps will the
dog catch the rabbit?

TF FHA CF @O H B w4 S| S A
&1 g A F1 400 TAT T GG F 5 6 A
T H fon T wHE W % 4 T o &
TG & SR © WO Tk we § 1.5 Hew gt
T H & WAfh FHal Th A § 2.5 w5l
T H ¢ WONY H UHEH F AU HA HI
foraft e et g2Tt?

A hare, pursued by a grey-hound, is 50 of her own

9s.

97.

leaps ahead of him. While the hare takes 4 leaps the
grey-hound takes 3 leaps. In one leap the hare goes
7/4 metres and the grey-hound 11/4 metres. In how
many leaps will the grey-hound overtake the hare?
uF R A, @O w1 9w € e
T 39 FA W AT BAM G 50 BAT A0
Ty o T | 4 Fem g 3ad €@ 9

o forseRl a1 3 D o €@ qen ferERd
FX HT Tk T HEY: T/4L00G 11/4 A R
@ Fife i Fa H 39 @
F UHS AM?

A hare pursued by a grey-hound, is 20 of her own
leaps ahead of hims While the hare takes 4 leaps the

?)s. 2 leaps of grey-hound is
_hare. In how many leaps will the
e the hare?

TF WY F TS FE@ § qe
| SO BEA | 20 B A
pd &1 2 DA, @O H 3 TAM &
| T A Fie e e e am §
9T I TR wm?

grey-hound take
equal to 3 lea
grey-hound

9@\&@ points A and B are 300 km apart. A person P

starts from A at the speed of 30 km/h at 1 pm and
another person Q starts from B at 1 pm. Q doubles
his speed per hour and reaches at A in 37/8 hour.
After what time they will meet?

3 fag A @R B, 300 et %1 gt ® &) =t
P 30 fopHi/=a 1 =1t € fag A9 1 &S Fo T &
FIA T AR T AR Q fAg BH 1 99 Fer I&
A1 &1 Q S| W I Yk HE g Il @ IR
AR 37/8 %2 § Tg9 W1 21 9% g fhad 9HA
ar faeii?

On return from a business trip. Anand was to be
picked up from Airport by his coachman. However
his meeting finished before schedule so he left for
his destination earlier by catching an earlier flight
as a result of which he reached 2 hours early.
Immediately on arrival he called up home to convey
the coach that he had reached and was told that he
had just left in order to each on time by which Anand
was scheduled to come. To save time he started
walking home at 4 mile/hour on the way he meet
the coachman and reached 1 hour earlier. How far
is Anand's home from Airport.

SR A § 999 $H W =2 Fl gaRdAee §
3IHE HFH F oH T o1 W Wi g
el @A BF I g9 ¥ 98 98 ° 999 9 Uee
i Wz UhE H ke T SR 3 wimm
7% g T 9 TanersE W 2 W wed Wgd T
A & ST FHIFHA HI Fher H1 el q9 g9
% fau 98 98l § Rl 4 Hiesa &1 fq 9 fwd
T R 9 TR o i o fien ok | s
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98.

99.

100.

101.

TEd TEH TN AR % R ¥ edRsiee &1 gl
foparft @7

X and Y start from point A to point B. X starts
moving 8 minutes after Y but reaches point B at the
same time as Y. If both of them start from opposite
direction at the same time, then they meet after 3
minutes. In how much time can X cover the earlier
distance.

X 3R Y faig A9 g B e 3& &3 € X 8 e
L T YE F@1 ¢ AR Y IH g9 W fag B
R Ugd Wl €1 98 qH 39 gug fauda frem o
ol IE 3 € 99 9 34 3 e 9 faed & X
1 W 0 F 7 FE A AT T am?

A tourist covered a journey partly by foot and partly
by bus. He walked for 90 km and rode the bus for
10 km. He spent 4 h less on the bus than on walking.
If the tourist had reversed the time he travelled by
foot and by bus the distances travelled on each part
of the journey would be equal. How long did he
ride the bus?

TF T Fl G 1 KD U U qe 99 A 9
gR1 TF Ha1 ¢ 9% 90 TR 1 g Uset 9o 10
ferel. <1 5 = g0 o ke 81 9 BRI A % |

102.

et THg W 99 F € ME FT M@ T RO
0 & A % GHMIRT q21 ME R o 9 &
TS F A g1 A% 99 60 fHEH. F g
40 ffl. s &1 W@ | 4 W0 § 9 R €
A FHITSC 44 Fopet. /s &1 = 9 9 =2 § fpaer
T @ FHalt?

A pedestrian and a cyclist left Afor B at the same
time. Having reached B, the cyelist tutned back and
met the pedestrian an hour aftepthe'start. After their
meeting, the pedestrian contimued his trip to B and
the cyclist turned back and alse’headed for B. Having
reached B the cyclist turned back again and met the
pedestrian 30 mns after their first meeting.

Determine What.tllﬁ%lt takes the pedestrian to cover
the distance bﬁwee% A and B.

WWM@%@%WWAHBEHW
qu@%ﬁ%leqgaﬁ?ﬁwmﬁm
wmﬁﬁwmﬂﬁmﬂaﬁmw
‘%‘Eﬁaﬁﬁm% qoN TEFA FIR B W T B

I P%WWWW%HWWW?

mmmﬂmmﬁ@fﬂm% qA"E BTFE
.éﬁ@mWWmﬁmm?

5 39 o = T e T 4 U E‘fﬁ jr’f% A train approaches a tunnel AB, Inside the tunnel a

wﬁ%uﬁa’gﬁﬂmm#amwmﬂ#’%
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Two people started simultaneously to‘wn[_‘
other from A and B, which are 60 kmv%%art They
met 5 hours later. After their m@etrﬁgy the first
person, who travelled from Afl(;r ﬁ‘\\ﬂ_ecreased his
speed by 1.5 km/h. The other ond'who travelled
from B to A, increased his speédﬂ'i‘y 1.5 km/h. The
first person is known to a};ﬁ%’\e at’ 2.5 hours earlier
than the second persor&g“rﬁygd at A. Find the initial
speed of the first personr b
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A bus is moving with a uniform speed travelling a
certain distance in a certain time. The speed of the
bus is directly proportional to the distance travelled
and inversely proportional to the square root of time.
It travels is 60 km in 4 hours at a speed of 40 km/h.
Then find how much distance will travel in 9 hours
at a speed of 44 km/h?
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goat located at a point i.e., 5/12 of the distance AB
measured form the entrance A. When the train
whistles, the goat runs. If the goat moves to the
entrance of the tunnel A. The train catches the goat
exactly at the entrance. If the goat moves to the exit
B, the train catches the goat exactly at the exit. Find
the ratio of speed of train and goat.

TF ISl Y9N BRI A € T T AB FI R
& G B S, ABF B /127 WH
T feEr & & @ el S T € 9 9
TFEG GO Y FA 1 AR TED G A F AR
AT & T TerTSt W WEv §R W UHS ot § A
9% ™ gR B &1 3R 9t @ df el 39
A B W UHE oidl @ df el @R gl
el &1 AU T HIFAT)

A train approaches a tunnel AB, inside the tunnel a
dog located at a point i.e., 2/5 of the distance AB
measured form the entrance A. When the train
whistles, the dog runs. If the dog moves to the
entrance of the tunnel A, the train catches the dog
exactly at the entrance. If the dog moves to the exit
B, the train catches the dog exactly at the exit. Find
the ratio of speed of train and dog.

TF {MEl AB HUT #1 AR Fgdt § g # AR
A9 R A™ AB F1 2/5 30 W TH FHAI 9FH IE
Ff ¥ AR wW VAN gR H R el § o
TemEl 39 YAY BR A W & UHE ol € At ae
1™ gR B &1 iR 90t € qf emel 39 few
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Train X starts from point A for point B at the point
A and B are 300 km apart. The trains are moving at
a constant speed atleast at 25km/h. The trains meet
each other 3 hours after they start. If the faster train
takes atleast 2 more hours to reach the destination.
By which time will the slower train have definitely
reached its destination? (Ignoring te length of trains
in crossing?

T @MEN X T Y UF T HI SR U 9 g
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Two friends A and B, on their last day in college,
decided to meet after 20 years on a river. A had to
sail 42 km to the meeting place and B had to sail
250/7 % less. To arrive at the meeting place at the
same time as his friend B, A started at the same time

as B and sailed with the speed exceeding by 5 km7h“

the speed of B. Find the speed of A: - %
ﬂﬁaAameﬁaﬁnmwzqﬁ@
mqﬁEFWﬁﬁﬁqmﬁﬂhaﬂﬂ%A@:ﬁgﬁ
el T T 42 AL w7 gl T FEL
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HT 250/7 % FH 0 a9 HE €1 Her G e
R, TF 91 TEEd & AU A, BF @9 & e
URH @ §, a9 A, B H 4@ § 5 fmALE
AferF =16l | wordl € df AT 91 F6 S

A man walks from A to B and back in a certain time
at the rate of 3.5 km per hour. But if he had walked
from A to B at the rate of 3 km per hour and back
from B to A at the rate of 4 kni a“heur, he would

have taken 5 minutes longet. Find the distance
between A and B:
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m&400 m back is now 200m ahead of his car. What
is tl’le speed of the car?
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Answer Key
1km 2.3 km 3. 1km 4. 3400 m
3 km 7. 444 miles 8.5 km/h 9. 8 km/h, 12 km/h
. 81 km 12. 5 km/h 13. 6 km/h 14. 8 hrs.
5 km/h, 7.5 km/h  17. 15 min. 15 sec. 18. 72 km 19. 60 km
70 km 22.720 km, 11 hrs.  23. 12 km/h 24. 120 km, 5 hrs, 60km/h
420 km 27. 60km/h, 72km/h  28. 120 km/h 29. 4 min.
20 min. 32. 30 min. 33. 134 km, 48 km/h  34. 40 km/h, 320 km
80 km, 50 km/h  37. 80 km/h, 550 km  38. 890 km/h 39. 150 km
.100km/h, 1200km 41. 60 km/h 42. 54.6 km 43.10:36 am
60 km/h, 80 km/h 46. 50 km/h 47. 80 km/h, 100 km/h 48. 18 h, 70/9 km/h
132 km/h 51. 4 km/h 52. 6 km/h 53. 55 m/s, 39600 m
16 km, 45 km 56. 12 km/h 57.70 km/h 58. 30 km/h
36 km/h 61. 6 hrs. 62. 4% km/h 63. 4% km/h
307.5 km 66. 3 pm 67. 9 trains 68. 24 km/h
5 hrs. 71. 10 hrs. 72. 44 hrs. 73. 1 pm.
4 hours 76. 12 km 77. 40 km/h, 20 km/h  78. 4 km/h, 6 km/h
30 km/hr & 20 km/hr 81. 190 km/h 82. 380 km 83. 60 km/h
9 am 86. 9:40 am 87.9:24 am 88. 8:56 am
4 : 45 hrs. 91. 40 km/h, 60 km/h, 10 hr 45 min. 92. 525 leaps
210 leaps 95. 120 leaps 96. 4 hrs 97. 24 miles
2 hrs 100. 7.5 km/h 101. 99 km 102. 2 hrs.
4. 5:1 105. 7.5 hrs. 106. 14 km/h 107. 7 km

108. 30 meter/sec. or 108 km/h

5. 12 minutes

10. 35 km/h

15. 35 km/h

20. 6 km

25. 210km, 35 kmh
30.
3s.

10 min.

777 km

44.30 km/h, 450 km
49. 33 m/s

54. 48 km, 32 km
59. 750 km/h

64. 2 hrs.

69. 18 km/h

74. 12:30 am

79. 35 knvh, 30 km/h
84. 9 am

89. 35 feet/h

93. 2400 leaps

98. 4.8 min.

103. 6:1

These questions are more than sufficient to clear all concepts. After

solving these questions there is no need to follow any book. You may

leave question no. 37, 38, 39, 72, 83 and 91. My best wishes are with

you. Best of luck just for your bright future.

Train, Boat and Stream, Races and Skill
of Games PDFs will be provided soon.
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